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([ Practice B

In Exercises 1-4, use the diagram of ©C. A 40°
1. Explain why 4D = BE.
(15x — 40)° (10x + 10)°
2. Find the value of x.
3. Find mAD and mBE.
D B
4. Find mBD.
In Exercises 5-7, find the value of x.
5. R 6. 7. 152°
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(50x + 2)°
8. Determine whether 4B is a diameter Q
of the circle. Explain your reasoning. A @ 5
R
In Exercises 9 and 10, find the radius of ©C.
9. 10.
11. Copy and complete the proof. STATEMENTS REASONS

Given P_Q is a diameter of OU. 1. P_Q is a diameter of OU. | 1.

PT = /QTS' 2. 2. Congruent Corresponding
Chords Theorem

Prove APUT = AQUS -
UP =UQ =UT =US |3
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APUT = AQUS 4.

)

12. Briefly explain what other congruence theorem you could use to prove that APUT = AQUS

in Exercise 11.
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